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Time: 40 Minutes

Paper Science 8

Total Marks: 25

3rd Month, 4th Week, 6th Day

Syllabus: Monthly Test Unit5 + 6

Q.No.1 Encircle the correct answer from the following choices.

(1x10=10)
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i. p+tn=?

(a)

A (b) G (c)

z (d)
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X. Which process cause cooling?

(a)|Cooling &y (b)|Burning Y
(c) [Respiration ‘f-"/f-/ (d)[Photosynthesis /gjﬂi

X
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ii. How many number of elements in short period? fe (53l (999709
8

(a) 1 (b) 2 (c) 3 (d)
iii. Atomic number of magnesium is: Z‘L/:}JHK(‘.““‘?;‘G
(a) 10 (b) 1 (c) 12 (d) 13

iv. Which metal is present in the form of liquid?

tededL bl fsus

(a)|Lithium  ~*=*¥|(b)|Potassium (..:L‘,f (c)[Copper 4? (d)|Mercury d/?
v. Brass is an alloy of: 19’&)}.'(&)(}’4
(a)|Aluminium + Copper /?K+(»':’;.‘:| (b)|Copper + Silver /)/+4K
(c)|Zine + Copper /?l(+..f/‘ (d)|Silver + Nickel ngﬂ‘”
vi. Thesign "S" stands for: 24".?15/‘(“5”.:/!1:
(a)|Liquid d/l, (b)|Gas J’f (c) [Solid u’}"? (d)|Plasma -tk

vii. Which equation verify law of conservation of mass?

te 3/ oo § Uy Bl

(a) H; + O —H;0 (b) H; + C6, — HC¢
(c) HC¢+ NaOH — NaC¢ + H.0 (d) N2 + Ho — NH3
viii. Law of conservation of mass was put forward in: :wy’gﬁ:ut.awib“

(a)

+1687 (b) +1785 (c) +1885 (d) +1887

ix.

2KBr + Cl,— 2KCl + Br; this reation shows:

34".t');;l£dig’d/=IZKBr + Cl,— 2KCI + Br;

(a)

Combination reaction u:g'u’/u;:‘j{ (b) Doublecombinationreactionf{'d/u%‘d@f?

(c)

Displacement reaction ﬂ'dzm (d)|Decomposition reaction ﬂ'd/ﬁb{df

-u.‘."{:«LV/‘?
e Sy S T
(ii) What is the importance of endothermic reaction? ?Laoﬁ'gd/yﬁg'd/v(/‘%ia'
(iii) Define combination reaction. Give example. -LZ)JU’-Q/%}JJ{'JJU%J
(iv) What is meant by a group in the periodic table? ?La;yg;f,fu:ufﬁw
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Q.No.2. Write short answers. (2 x6 x =12)

(i) Define ionic bond. Give example.

(v) Write down uses of non metals.
(vi) Write name of second period elements.
Q.No.3. Write long answer. (3)

(i) What are the rules for balancing chemical equation?
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